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Can the information we learn in one 
iteration help us in future iterations?

Specifically: information about common prefixes
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New example:    T = aababababbabab$     P = ababaa



Suffix array

SA:

aa
ba
ba
ba
bb
ab
ab
$

ab
$
ab
ab
$

ab
ab
ab
ab
ba
ba
b$

$ ab
ab
ab
ba
ba
b$

ab
ab
ba
ba
b$

ab
ba
ba
b$

b$ ba
b$
ba
ba
b$

ba
ba
ba
bb
ab
ab
$

ba
ba
bb
ab
ab
$

ba
bb
ab
ab
$

bb
ab
ab
$

14 0 12 10 1 3 5 7 13 11 9 2 4 6 8

ababaa

abbabab$
------

Query:

Pivot:
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Query:

Pivot:

Length of Common Prefix (LCP) = 2
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Query:

Pivot:
LCP = 4
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====>-

Query:

Pivot:

What did we learn about common prefixes in the last 2 rounds?

LCP = 2LCP = 4
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LCP = 2LCP = 4
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Combine facts:

LCP with blue pivot is 2LCP with red pivot is 4

Next pivot is alphabetically between blue & red

LCP with next pivot is ≥
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Combine facts:

LCP with blue pivot is 2LCP with red pivot is 4

Next pivot is alphabetically between blue & red

LCP with next pivot is ≥ min(4, 2) = 2
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LCP = 5

LCP with plum pivot is 5LCP with red pivot is 4

Next pivot is alphabetically between red & plum

LCP with next pivot is ≥ min(4, 5) = 4
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Response is No: ababaa is not a substring
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